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Deflection
Cease
Strain
Stable
Equilibrium
Tension
Twist
Shaft
Gradually
Buckling
Associated
Collapse
Slender
Exceed
Slightly
Shell
Amplitude
Vibration
Objectionable
Collision
Stationary
Significant
Mentioned
Stiffness

Yield
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Suggestion
Characters
Experimental
Evidence
Indicate
Assume
Brittle
Initiate
Index
Substantially
Ductile
Inversely
Proportional
Portion
Denote
Fairly

Vessel

Pipe
Recrystallization
Response
Permanent
Undesirable
Due to
Fracture

Precede
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Excessive
Substituting
Torsion
Absorb
Breaking
Toughness
Resiling
Prudent
Criteria
Fatigue
Propagate
Rupture
Undergo
Configuration
Corrosion
Elaborate
Ordinary
Elevated
Creep
Progressive
Occur

Residual

a5l e
OO i
Si5f
ey
Gpdy LdS g0y b
Jgiae

S

oMb ol

S5 .5
RETBUCIESERE
S8
el ailole
Fyone
[RW (235 YLJ
o
@)..b L 6“’)9‘)
ool &,

Part I. Comprehension Exercises

A. True of False

1. F
2. F
3. T

Appreciate
Prior

Cast Iron
Uniaxial
Presence
Flaw
Exhibit
Smooth
Magnitude
Attributable
Accompanied
Lamellar
Tear
Promote
Rarely
Abrupt
Defects
Disruption
Encountered
Tendency

Impact
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4. T
5. F
B. Choosea,b,c ord
1. d
2 b
3 a
4. ¢
5. b

C. Answer orally
1. we can decrease deflection of a member by two ways :
(a) by changing the cross section of the member
(b) by using a stiffer material
2.  (a) Buckling
(b) Elastic deflection from vibration
(c) Stretching a member
3. 6=TL/GI])
4. Because deflection is one of the primary problems in failure of members

5.  The best way to increase the strength of a steel member is changing its cross section.

Part II. Language Practice
Choose a, b, ¢ or d.
Resiling

Deflection
Suggestion
Searing stress
Designing

Fill in

I N T A

1. Fails
Failure

2.  plastic
plasticity

3.  stability
unstable

4.  ductile
ductility

5.  stiffness
stiffening

Section Two
A. True or False

1. F

2. T

3. T
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4. T
5. T
B. Choosea,b,cord
1. a
2 ¢
3. b
4 c
5

b

Section Three: Translate Activities
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